
LINK ARMS AND TRIANGLE         
assembly instruction
CONSTRUCTION MATERIAL  aluminum alloy 2024 and 7075
MACHINING  CNC milling and turning 
SURFACE TREATMENT  coloured anodic hoxidation

All CSP’s special partsmust only be applied to motorcycles
  non intended for road use, but only in competitions track and race �elds.

The assembly must be performed by technicians or professionals.
Manufacturer is not liable for damage caused by the incorrect use of its products.

Manufacturer:
O.M. Costa Snc
fraz. Cervarolo
13019 Varallo Sesia
(Vercelli) Italia

MADE IN ITALY
 

STOCK M10 SCREW

PROVIDED M10 
CSP SCREW

STOCK M8 SCREW

STOCK Ø16 BUSHING

STOCK Ø14 BUSHING

ASSEMBLED BEARING AND SEALING RING

ASSEMBLED BEARING WITH SEALING RING

STOCK M8 SCREW

STOCK M8 NUT

STOCK M8 NUT

STOCK M10 WASHER

STOCK M10 
NUT AND WASHER

1

3

1

1

4

4

4

3

2

2

2

3

info@costaspecialparts.it      



BIELLETTE E TRIANGOLO LEVERAGGIO
istruzioni di assemblaggio
MATERIALE DI COSTRUZIONE  lega di alluminio 2024 e 7075
LAVORAZIONI  fresatura e tornitura dal pieno 
TRATTAMENTI SUPERFICIALI  ossidazione anodica colore

Produttore:
O.M. Costa Snc
fraz. Cervarolo
13019 Varallo Sesia
 (Vercelli) Italia

MADE IN ITALY

Tutte le parti speciali CSP devono essere applicate esclusivamente a motocicli non
 destinati a circolare su strada, ma solo nell’ambito di competizioni e appositi campi gara.

L’assemblaggio deve essere eseguito da tecnici e/o professionisti del settore.
L’azienda produttrice non risponde dei danni causati dall’incorretto utilizzo dei propri prodotti.

VITE M10 ORIGINALE

VITE M10 CSP
FORNITA 

VITE M8 ORIGINALE

BOCCOLA Ø16 ORIGINALE

BOCCOLA Ø14 ORIGINALE

ASTUCCIO A RULLI E ANELLI 
DI TENUTA PRE-MONTATI

ASTUCCIO A RULLI CON 
GUARNIZIONE PRE-MONTATO

VITE M8 ORIGINALE

DADO M8 ORIGINALE

DADO M8 ORIGINALI

RONDELLA M10 ORIGINALE

DADO E RONDELLA
M10 ORIGINALE

1

3

1

1

4

4

4

3

2

2

2

3

info@costaspecialparts.it      


